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QUESTION 1

Click the Exhibit button.

Lab Switch

==
ﬁ
M,. ¢ Ae=0/20 » Internal network
ﬁ
ge-0/0/3
= —

user@Lab_Switch> show spanning-tree interface
Spanning-tree is not enabled at global level.

user@Lab_ Switch> show interfaces descriptions

Interface Admin Link Description
ge-0/0/1 up up Lab Port 1
ge-0/0/2 up up Lab Port 2
ge-0/0/3 up up Lab Port 3
xe-0/2/0 up up internal network

You want to prevent rogue BPDUs from lab devices reaching the internal through the Lab_Switch device. Referring to
the exhibit, what should be done to accomplish this task?

A. Configure the three lab ports as edge ports

B. Configure an input filter on interface xe-0/2/0 to discard the RSTP packets

C. Configure the three lab ports under the protocols layer2-control bpdu-block hierarchy on the switch
D. Configure protocols rstp with the bpdu-block-on-edge parameter for interface xe-0/2/0

Correct Answer: C

QUESTION 2

Which statement is true about IP-IP tunnels?

A. Intermediate devices must have a route to the destination address of the traffic being tunneled.

B. Intermediate devices must have a route to both the tunnel source address and the tunnel destination address.

C. Intermediate devices must have a route to the tunnel destination address but do not require a route to the tunnel
source address.

D. Intermediate devices must have a route to the tunnel source address but do not require a route to the tunnel
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destination address.

Correct Answer: C

QUESTION 3

Which two port security features use the DHCP snooping database for additional port security? (Choose two.)
A. dynamic ARP inspection

B. MACsec

C. IP Source Guard

D. MAC learning

Correct Answer: AC

QUESTION 4

Click the Exhibit button.
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user@fswitch> show interfaces ael
error: device ae(l not found

user@switch> show configuration

chassis |

nssu;
}
interfaces {
ge-0/0/3 {
ether—-options {
802.3ad aed;
}
}
ge-1/0/4 {
ether-options {
BOZ.3ad aeld;
}
}
ael {
unit 0 {
family ethernet-switching {
vlan {
members default;
}
}
}
}
}
vlans |
default {
vlan-id 1;
}
}

Referring to the exhibit, what is the problem?

A. The LAG member interfaces are configured across different line cards
B. LAG requires more than two member links

C. LACP is required for LAG to work

D. Aggregated interfaces must be defined under the chassis stanza

Correct Answer: D
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QUESTION 5

Which static route next-hop value indicates that the packet will be silently dropped?
A. resolve

B. discard

C. reject

D. next-table

Correct Answer: B
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